with PYTHIA 6.414 compare different options:

* no parton showers, no MI MSTP(61)=0, MSTP(71)=0, MSTP(81)=0

* parton showers, no MI ~ MSTP(81)=0

* parton showers, MI -MSTP(5)=100 —>R.Field CDF tune A
-MSTP(5)=300 ->Sandhoff-Skands tune O
-MSTP(5)=402 - GALI!
-pythia default

try CKIN(3)=5, 10,15,20
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Hadron jets, P+ and eta

(P+_jet>20 GeV)
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Pt+_leading_hadron jet vs parton
(parton is the one from 2->2 hard scattering)
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Pt_leading_hadron jet vs parton
(parton is the one from 2->2 hard scattering)
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eta_leading_hadron jet vs parton
(parton is the one from 2->2 hard scattering)
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Pt (leading_jet_hadron- parton) vs 2 Et (5.2<eta<6.6)
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Jet profiles vs eta (A¢<1.5)
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Pt_leading_hadron jet vs parton
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eta_leading_hadron jet vs parton
(parton is the one from 2->2 hard scattering)
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Pt (leading_jet_hadron- parton) vs 2 E (5.2<eta<6.6)
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